YZ-GERMANY

AT A=k %3

BT-DC30 BT-DC40 HSK-A63

IRh¥EE (25D 1L®)

3um KI'F

LoF1 AT EIEE

®6 ®8 ®10 ®12 d16 920

vV aULBiREICSSUEIERRE

‘%’ YAMAZEN



YZ-GERMANY na1rOf4 0% R

EREELMIZ. FIALMMHKE
BEBRETER!

. NFBE Sum
Y=V vy H

LTI EHMDIRET 3um LIRN%EER
‘FNEBERER ¢6 ~p20 (Y—IZEEHU 2.5D (iI&)
HIRDDH DBV Y 724 Tt
AN)RE SFERNVDDHBV+>7E0K

kB RS
@

MEOHEZREETU U IRE) Z DI

ECHEHEIRE
EROOEBEL
NALUFTIZTRUH

L EBUBETHHALEY
F— ERHHLEELTS,

Q9532 b s ok O NEBTRIE L E A ERENTGVIVT

NS RZEM G2.5 (25,000 min-1)
FAMEE 50,000 min-1




BT-DC30 2 m#isR{t#+k

FHE/IEERE

50,000 & @i

. , Di.| D De.| L | Le | .| La | L S BEBAS
FEI—K BE R | i | e e || T “Immi

BFHIO BT-DC30D6L55 6 |26 46 228 55 37 10 178 M5 16 0.6 27 50,000
BFHIP | BT-DC30D8L55 8 28 46 248 55 | 37 | 10 184 M6 23 0.61 27 | 50,000
BFHIQ @ BT-DC30D10L55 10 30 46 268 55 41 10 19 M8X1 45 0.6 31 50,000
BFHIR | BT-DC30D12L55 | 12 | 32 | 46 288 55 | 46 | 10 195 M10x1 90 0.59 36 | 50,000

BFHIS A BT-DC30D16L90 16 38 45 347 90 49 10 50 68 MI12x1 185 0.9 39 50,000
BFHIT | BT-DC30D20LS0 | 20 | 42 45 37.7, 90 | 51 10 | 50 | 68 | M8X1 330 0.94 41 50,000

BT-DC40 2 E# R {1k

/el

56,000 & @i

. : Di.| D De.| L | L | s | L B BEFAS
FEI—K BE o | i | trvd | e | el | et | e “Immi

BFHIU = BT-DC40D6LS0 6 | 26 445 22 90 37 10 43 63 M5 16 1.34 27 50,000
BFHIV | BT-DC40D8L90 8 | 28 445 24 90 | 37 | 10 |445| 63 M6 23 1.35 27 | 50,000
BFHIW = BT-DC40D10LS0 10 30 445 26 90 41 | 10 445 63 | M8XI] 45 1.36 31 50,000
BFHIX | BT-DC40D12L90 | 12 | 32 (445 28 | 90 | 46 | 10 44.5| 63 M10X1 90 1.37 36 | 50,000
BFHIY @ BT-DC40D16L90 16 | 38 445 34 90 49 10 475 63 MI2x1 185 1.43 39 50,000
BFHIZ | BT-DC40D20L90 20 | 42 (445 38 | 90 | 51 | 10 |47.5| 63 MI16X1| 330 1.45 41 50,000

HSK-A63

/N FElsE

60,000 r= @)

. , D | D De. | L | Le | o | La | L e N
FEI—K BE R | A | i e ||t E

BFHJA @ HSK-A63D6L70 6 26 50 22 70 37 10 24 44 M5 16 0.95 27 50,000
BFHJB | HSK-A63D8L70 8 |28 50 24 |70 | 37 | 10 | 25 | 44 M6 23 1.0 27 | 50,000
BFHJC HSK-A63D10L80 10 | 30 50 26 80 41 10 35 54 M8XI] 45 1.01 31 50,000
BFHJD | HSK-A63D12L85 | 12 32 | 50 28 | 85 | 46 | 10 | 40 | 59 | M10X1 90 1.04 36 | 50,000
BFHJE HSK-A63D16L90 16 38 60 34 90 49 10 46 64 M12xX1 185 1.15 39 50,000
BFHJF | HSK-AB3D20L90 | 20 | 42 | 50 38 90 | 51 | 10 | 48 | 64 MI16X1| 330 1.2 41 50,000



FERENDIER

@V LY+ I Eh6 AZERDED % TFERACEEI L,

@V LY+ I IITRRBEI/ BN EZTHIACEL L,

OZEFARUECY—LEZBALEVEASZBIBTA2BNIHIVET,

OFEATREAZ—TIC2&FLTR.BME|DHZRFTIEFABREECEIL,
BUIRNhBEREN»ET TSRS SV ET,

QS AEEH AR DLEDY—ILIcL->TREEHE T FTIERCEIYL,

@V ILORMNBWIZE REFRPVIZEZIFEACEZL,

@/ TRINTFYFRbyTTIEERETHRALVF (MIOILVFRAE)THDY>TTEL,
XNALF (ZEE5mm) ZBRSAECESV,

OHSK-A63FIEZDIFERFIX. & I—F P Fa—T2TRHEBCEZIL,

HHF—4

poyog | BEEENLY | BERAR (REURS SOmmMATO ARG [EFREHEE [C] 20~50
77 [Nm] [mm] HESYTIER NI [rpm]
95V THOHREE [C] 20~50

6 16 27 225 50,000

10 45 31 540 50,000 RIHUBBRYOREE [mm] 10

12 20 36 650 50,000

R =DRVDN h6

16 185 39 1410 50,000

o0 330 a1 1860 50,000 VEMPET PSRl 10~12
CAD F—A2HF TWEDRE. G0 HSRFTIEMRABRIGECES L,
XF—2DT7AVERE stp TT,
Z2ICHATEHIERE
CEAFIC DRHEAZE 2L BRmAVELVAEA LT EULCEIYFELCEZL,
900 (.. )

8 | TES cR
—]

T550-8660
K BR FF A BR T 8 X 3L FE 48 3-2-5
TEL 06-6534-3158 \. y,
E-mail support_te@yamazen.co.jp *ANEOY CRBLARAOEHES L CABRE FERLCEET 5 EPBYET,

https://www.yamazen.co.jp 2024 %58



